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This one comes and teaches about the other — 77 5 7% 7717 N2

OVERVIEW

The &3 cited a Xn>72 which stated that i 7RX™ refers to M732 °»° and PR
70> refers to Myl "»°. The Xna asked; it should only state mav1 (that she
leaves her master when she is a 77¥1) and it will not be necessary to mention
M2 (which comes after M7v1); for she will already have been freed (by
mMv1). The X nx answered 1"V 7°91 171 X2, Therefore both (21 78¥™ and X
n02) are necessary. N190IN explores the necessity of both phrases.

— 271952 939507 919 NI 199 5P 9N T KON AN RY IN W19
The explanation of the answer "y 72°91 771 X2 is; if only one of the phrases
were written (whichever one) we would have established it to refer to the

more probable case which is N3, Therefore the 7110 wrote two phrases, that
even if one will be referring to M133, the other will perforce be referring to n17va.

nvoIn asks:
— 903 PN YY NN DIN AN D NI 9IRN ON)

And if you will say; and why is 2117 7RX necessary to teach that no> PR
refers to Mv1 -
— MY NIN 519522 G0 PPN NDPIND 13981 71N XD 1PN90 Yy NN

For even without 0117 7iX¥™, perforce we could not establish ne> °R to refer

to n1123, but only for mw: -
— 2N 1319 AN PTIRY G WO HAN 9999 199WT 1939 NNT

For previously we derived from 702 "X that ‘however there is 8> for the

‘other’ master’, and who is that, the father -
— P2 299N NP IND PPN Yy )9 BN

Therefore perforce this o5 of 702 PX (which teaches TR NTRY H0d W)

must be discussing nw: -
— A MY NANRY PN N992Y 19997 PYITHI INIT ANN PN 1119)23 I9INT

For at the age of n1m32 the father has no right in her P27, for since she
became a N3, her father has no authority over her.

' See X2 7"7 "0

? The purpose of 13 DIn 7XY™ is to teach us that an X is freed from her master even before the six year
period of servitude is completed. It is logical to postpone that time to the latest possible date (for we are
depriving the owner from the services of this 7nX). It would seem appropriate that it should refer to n17x2
when a woman becomes completely independent from her father (see 21 77"7 2,3 m»01n) and [therefore] also
from her master.

* The w7 of InR 717X 705 W 9aR 121 (o1 X teaches us that the 1217°p 703 belongs to the father.
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To summarize: 703 X teaches us that the w17°p of a daughter belong to the father.* This
obviously is not referring to a n7a13, for a farther has no mw" over a N2, It must be
discussing a 77v1. Why then is 017 AXX™ necessary to teach us that 103 X refers to ">
mw, when the nwA7 of IR N7X? 705 W, teaches us that we are discussing n7v1 »»°. There
is (seemingly) no need for the 770 to write 217 AXX"1; 103 "X alone is sufficient to teach
us that she 1s MY1 > NRYY!

NIDDIN answers:
— 0N AN INY INT *0797 IIINY

And the »''1 answered that if not for the p105 of 217 XX -
— 119335 10Y MIPIY 10 *X3%39 ANT 17957 NN D3 PPN 195991 MY

We would have established (the two M7, namely) the 2109 of 8> 1°R and
the extra 7'' which X1°29 mentioned, one of them to refer to nyvw: and

the other to refer to nyaxa -
5: 030 INY PV 231D '1IPWAT 1IN0 NY DT PINY 0 PRT YT

And we would not have made the 7297 of 177 TI7R® nO> N, etc.; therefore
217 JINX is necessary.

SUMMARY
If not for o1 X% we would interpret 702 "X and the extra 7" for m7a2
My and we would not know the 7wA7 of 121 7371 NTRY A0 PX.

THINKING IT OVER

It appears from nooN if there would be no 017 AX¥™ we would utilize the
two 2°2105 for M132 and MYl. Why could we not have said that the extra 7"y
in N2 PX, teaches 121 71 NIXRY Q0D PR, which would force us to assign 703 PR
to My1, since by m732 the P72 cannot belong to the father? Why the
preference for NMIY1 N33 over 121 NTR? A1 1K and Mwi?!

* This (seemingly) can be derived from the extra 7"v. See “Thinking it over’.

> Others interpret this to mean 7°k» ™. Perhaps this is °Xn ' (the son-in-law of *"&1 and) the father of the
o"aw", the n"7 and the 0"2". This however seems unlikely. It may be referring to others including (but not
limited to) *Xpn awn ", RI2WRA AW M, ROWH RA M, or 3210177 R M.

6 X taught previously (on this Tn¥) that the 7" of 705 X is superfluous it could have said 703 IX.

7 The reason we have the w17 of 191 77 VIR nod X is because 702 X is superfluous, since it already states
21N IRYM (see RYM 7"7 2,2 °"w7). However if there would be no 2ir7 7" (as n1901n asked), then there would
be no 7wA7 of 131 731 1TRY A5 X, but rather the words 0a 8% and the extra 7" would be needed to teach
us that an 71X is NMY12 XYY, for one of them alone (say 702 1X) would only teach us that she is N17322 ARYY.
8 Now we have two extra D 1m%; A0 X is extra since it already states 017 IX¥™ and the 7" is extra. One of
them teaches that she is m7y1a ARx (for NM132 we already know from 2177 7%x™) and the other teaches us
that 121 7T TR 700 TX.
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